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Part A: Vocabulary and Grammar
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

76-

77-

78-

79-

The fire finally ------------- under control, but only after extensive damage ----------- .

1) got / had been caused 2) had gotten / was caused

3) got / has been caused 4) had gotten / had been caused

Iam -----emneene- my friend's children while she takes a week's holiday.

1) looking for 2) looking after 3) taking after 4) taking care

The director of the program advised the students ------------- time -------mnnu-- material that was so
out—of date.

1) to avoid wasting / reading 2) to avoid to waste / to read

3) avoid to waste / reading 4) avoiding wasting / reading

A: "My friend failed the test yesterday."

B: "It's nothing unusual. He ------------- more."

1) must study 2) should study 3) must have studied 4) should have studied

Exercise and weight ------------- can help lower your blood pressure and help you feel more
energetic.

1) pace 2) task 3) loss 4) choice

After graduating from university, John and I became best friends, and he ------------- me deeply
with his behaviour.

1) involved 2) advised 3) influenced 4) improved

The pilot of the airplane had to make a/an ------------ landing because of the very bad weather.

1) mystery 2) emergency 3) strategy 4) density

Something is really worrying me, but I can't ------=------ exactly what it is.

1) locate 2) devote 3) define 4) handle

Each school's central ------------- should be to teach reading, writing, and arithmetic.

1) mission 2) occasion 3) expression 4) permission

I think the plane is ------------- in a few minutes.

1) turning on 2) making up 3) turning up 4) taking off

I don't like seeing animals in a zoo. I prefer to see them in their natural ------------- areas.

1) relaxed 2) surrounding 3) contrasting 4) individual

I find his habit of opening windows all the time really most annoying, ------------- when the
temperature is minus 10.

1) exactly 2) perfectly 3) constantly 4) particularly

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

To be in employment means to have a job, to have work. The type of work, the hours and
(88) ------m--m-- , vary across the world from country to country, from organization to organization,
from business to business. Full employment is an economic (89) ------------- meaning all the
(90) -------———--- workforce of a country is occupied in work. This is nowadays (91) ------------- as an
impossible position to reach for various reasons. Being employed usually means working for an
employer, for a period of 8 hours per day, Monday to Friday, but this can vary (92) ------------- from job
to job, country to country.



88-
89-
90-
91-
92-
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1) opinions 2) politics 3) projections 4) conditions
1) term 2) detail 3) degree 4) average

1) flexible 2) available 3) reasonable 4) responsible
1) directed 2) remembered 3) regarded 4) measured
1) greatly 2) briefly 3) certainly 4) suddenly

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passages is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

94-

95-

PASSAGE 1:

Human beings used speech as a means of communication long before writing was invented. Writing
represents, or symbolizes, "the sounds we make when we speak. Written language is usually more
formal than speech. In a typical conversation, a speaker will stop and start, leave a sentence unfinished,
and say "er" or "um" when thinking what to say next. Written language, by contrast, is much more tidy
and organized. If you were to write down exactly what people were saying in a casual conversation,
you would end up with a very rough and untidy piece of writing. Also, in a conversation, speakers
often predict what someone is about to say next, and interrupt, or talk, briefly, at the same time as
another person.

When you speak, you can add colour to what you say in a number of ways. You can make your voice
louder so that it will carry and have real effect; you can stress certain important words or phrases so
that your listeners pay special attention to them; you can alter your tone, making your voice rise and
fall as you speak; you can alter the pace at which you speak, speeding up or slowing down to make
your speech more interesting. Experienced public speakers become expert at using these techniques. In
everyday speech using these techniques naturally makes for lively and interesting conversation.

According to the passage, writing is a representation of ------------- .

1) an unfinished sentence that we say

2) what someone is trying to say more forcefully

3) what we can say after thinking

4) the sounds we produce when we speak

We can understand from the passage that human being used oral language ------------- .
1) to convey meaning

2) to add color to his voice

3) in typical conversations long before writing

4) as an untidy language before writing was invented

According to paragraph 2, an expert is a person who ------------- .

1) can make his voice louder

2) is efficient at doing something

3) can pay special attention to words and stress

4) makes his voice rise and fall as he speaks

The writer believes if we use speaking techniques in our every day speech, -------=----- .
1) we can make up for the weaknesses of speaking

2) we will have a more interesting conversation

3) we can change the speed at which we interest people in the topic

4) we can make our listener more lively and interesting



97-

98-

100-

PASSAGE 2:

If a person uses two languages in everyday life, he or she is said to be bilingual. Only a few people
whom we would call bilingual can speak, read, or write both languages equally well. We call those who
can do this "balanced bilinguals". But most bilinguals have a preferred language, which they use most
of the time, and then a second language, the level and use of which will vary considerably from one
person to another. Children raised bilingually from a very early age are most likely to have an equal
command of both.

There are bilingual communities in many parts of the world. Members of these
communities use two (or more) languages as a matter of course. South Africa, Belgium, Wales, Ireland,
and Canada are some examples of countries where such communities exist. (This does not mean that
everyone living in these countries is bilingual.) Bilingualism also occurs in other areas of the world
where immigrant groups have settled but have remained not fully absorbed into the society around
them. They keep up many of their own customs and continue to speak their own language at home. The
following examples are taken from a long list: Chinese and Italians in Australia; Turkish migrant
workers in Germany; Asians in Great Britain; and Spanish speakers in the United States. In many
cases, the bilinguals are not themselves immigrants, but people whose parents, or even grandparents,
moved to the country in question and have continued to speak to their children in their own mother
tongue.

According to the passage, a balanced bilingual is a person who ------------- .

1) can use two languages in everyday life

2) has an equal command of two languages at the same time

3) can use a second language in a context where another language is spoken

4) has been raised bilingually and can read and write only his own language in two countries
According to the reading, children who were bilingual from a very early age ------------- .
1) are more likely to be dominant in one language

2) have an equal command of both cultures

3) can write both languages equally correct

4) most probably know both languages equally

Which statement about the passage is NOT true?

1) South Africa, Belgium and Canada are some examples of bilingual countries.

2) Members of bilingual communities use two languages as a matter of course.

3) There are bilingual communities all over the world.

4) Not everyone living in bilingual countries is bilingual.

Migrants speak their native language in order to ------------- .

1) preserve their customs

2) help their children do better at school

3) communicate more easily with their children

4) be absorbed in a foreign country more easily



